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Aufgaben Terme llI
1. | Vereinfachen Sie
a) _2x=7 5-4x b) | 3kx —(3-k)x C) 8x—2_§(4x_4)
2 5 2 8
2. | Vereinfachen Sie
3) %(—2x+4)—4x_2 b) x? (x—6)—2x*(x-2)
C) x(2—x)+5(2—x) d) ( 1
—X+2)(x=-3)-|2——Xx|(x-3
(-x+2)(x-3)~( 2-2x |(x-3)
e) | 6ax —3ay + 4bx — 2by f) | 30sx —5kx — 68y +ky
3. [Multiplizieren Sie aus
a b c
) (x—5)(x+§j ) (Ex—zj(x+3) ) (EX—EJ(X+5)
2 3 2 2
d _ A f _
) g(x+4)(x+4) e) (3 2X)( 2X+3) ) —(2X+8)
4. | Multiplizieren Sie aus
b
% (x+8)(1x+1j ) (1—ixj(3x+2j N X (2x -k}’
4 5 5 2
d) —£(4—2x)2 €) | X(x +3)(2%x~5) f) (x-1)°
8
5. | Schreiben Sie in Produktform
a) | x2 +14x +49 b)| 4x? ~8x+ 4 c) le_ g
d|1_ 2 f) | _y2 _
)[1-2x+x e 1., ) | -x?+6x-9
h 2 2
9) 1x2+2x+5 ) —x*-3x+9 ) X__kx+k_
2
6. | Schreiben Sie in Produktform
a) | a2 — 4b? b) | 4k? — 4k +1 C) | 25x2 -9
d)| x* +2x%+1 e)| u* —4au® + 4u? f) | x3—7x?
7. |Vereinfachen Sie
a 2 b 2
) 3(2—3kj _,2-3 ) 7(b+1)+5(b+1)
3 3
O | (k-1 - (k +1)° - (k? + 4) DI (1-x)° +3(1-x) 1+ %Y’

Erstellt von R. Brinkmann pO_terme_03.doc

12.08.08 00:35

Seite: 1von 1




